1. Po3B’siKITH HEPIBHICTH:
1)6x>18;  5)10x<0; 9) 5-8x > 6;
2)-2x>10; 6) —7x>i—:; 10) 12 +4x > 6x;
3)2x>12;  T)7x-2>19; 11)36-2x <4x;
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4) 0,1x > 0; 8)5Sx+11<12; 12) T<2'
2. Po3B’s1KITh HEPIBHICTB:!

1)0x>10; 3)0x>-8; 5)0x>1; 7)0x<0;

2) 0x<15; 4)0x<-3; 6)0x<2; 8)0x>0.

3. Ilpu SIKMX 3HAYEHHAX X Ma€ 3MICT BUPA3:

1
1) V4x-—3; 4) \/x+5+);;

2) V5-11x; 5) V8—-16x+ x25_4J
3) i 6) —
) Vax+16' ) V=x—-1

4. Po3B’s1KITh HEPIBHICTD:
1)5-2(x-1)>4-x;
2) 0,2(7 —2x)<2,3-0,3(y — 6);

3) x(4x+1) — 7(x* — 2x) < 3X(8 — X) + 6;
4) (4x — 1)* — (2x — 3)(6x + 5) 4(x — 2)* + 16x.

5. 3HalIiTh HANOIBIIKM IIJIMH PO3B’I30K HEPIBHOCTI:
1)2x+9>4x-T7;

2) 7(x +2) — 3(x — 8) < 10;

3) 14x% — (2x — 3)(7x + 4) < 14;

4) (x —4)(x 4)-5x>(x—1)°-17.
6. CKITBKH IUIMX BiJI'EMHUX PO3B’S3KIB Ma€ HEPIBHICTh:
x+7 1llx+30 P x—9

?
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7. Ilpu SIKMX 3HAYEHHAX X BU3HAUYCHA (PYHKIIS:



1) fx)=+x+4+ 1 :

x—2
2) F(x)=v24 _8x+—0 .
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3) f(x)= -
v3r+9 |x|-2,

8. Po3B’sikiTh piBHsSHHES: 1) [X—2|+X=2; 2)|x+3|-Xx=2.



